M8x40 - 1x

M10x35 - 4x @ SM8 - 1x PL8 - 2x

M12x70 - 2x (A

M2x90—2x%!)] — / PP10 - 4x P10 - dx @ SR T
2x19 - 4x (C) o _ PP12-2x (A1)

]
M1
M12x20 - 3x (V) .@ MI12-2x (A ) PP12 - 4x (C, V)
M12x25 - 1x (V) A

DETAIL ! OCTAVIA DETAIL Q)J:O _, OCTAVIA

| M12x90 (10.9) - 2x
110 Nm!

e
o )
i U B
' —H

M12x70 - 2x

" SKODA OCTAVIA / OCTAVIA KOMBI / OCTAVIA SCOUT
V h122 - 1x AIC 325122 Kod: S1057(A1.C.V) 12.2. 2025 A




